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7131351412313 |4|6]5]|6|2|3]|4
Intreruperea studiilor cf aprob
219258 14|15|5|8|8|10/8|9|6|8|8[8|9([10]10 53 |-/ RM2
3| a3 |0|5|6|0|5(|10[0]10|0|0]|7]6|6]8]0 31 f{'l\'\:ém'l'DT'Z/RMl'Termm'
419269 |4]|517]|6|19(1017(9|7|8]|8|7]10[10(10 53 |SIM-5(in cat)/ TCD-5
519298 |5|5|6|7|6(10]7(10{6[8]|8]|7]|10]10(9| 7,3 60 |-/ RM1,Termoth2
6| o206 | 5|6/ 6]8[10[10[10{10] 7| 8| 8| 8]|10{10]10] 8,083 | 60 |AME SIM Mec2/RML,
Termoth2, RM2
AM, SIM, Mecl1 / RM1, Termoth?2,
9312
7 51614|17181919[10|5(8|9(8|9([10]10 57 TCD, Ed fiz2, RM2, Ed fiz3
81954 |4|(5|5(6]6(10161914|7]|7|16]|6]10|0 45 |-/ RM1, VM
9]9333|4|5|6|6[9|10/6[(9|6|6|6]|7|7|7]|6 53 |-/RM1
101 9364 | 4| 5|18(718(9181916(8]8[7]8]10|0 49 |-/ RM1
1111019719 8(5|18|7(1019]19(8]9|9[9]10] 910 8,6 | 60 |-/PAC-8, Tribologie-8
121 9385 | 4| 5171819101 7(9|6|7|7|7]8|0(10 50 |-/RM1, RM2
13( 9386 |4|5(5|18|8(10/16]|9(5|8|7|7|8]7]9 53 |-/ RM2
141 9394 | 4| 5|15(6]16[9]519]|10(6]|6[6]|7|7|7 49 |SIM, Mec2 / RM1, RM2, Ed fiz3
151102141 819 8| 6[10{10]110f{ 91 0| 9110({10]10[(10(10 56 |SIM-7 / TCD, PAC, Tribologie-9, VM
16 9403 |4|5|6|7|7(10/5[9]|5]8]9]9]10]10(0 49 |Fizica/RM1
171 8959 | 6| 5|6[6]8(10]/100 910(6]16[7]0]| 88 54 |-
18| 9425 | 415161101 911019 9|6|8[8|7|9]9]10 53 |-/RM1
191 9443 | 5| 7|6|7|7(1016(10|/ 6| 8110 7|10 9 [10] 7.6 60 |-
20| 9444 14|15|1718|6(1019(9|6]|7]|8]|7]8]9](10 53 |-
211 9459 | 6|1 5|6|18|9(10{9(10({5|7|8|7|7]|8|9]|7,433| 60 |-/RM1
221 9470 | 6|1 5|5|6|7(1019|9(6]|7]|7]|6]8]10(0 56 |-
23| 9473 | 4|6|7|6]7|10]10[10|6|7]|6|7]|6|10[10 53 [SIM-5/RM1, RM2
241 9478 |4|5|6|6|8|9(8|8|7|8|8[8|9([10]10 53 | -/ RM1, RM2, VM
251 9489 | 4|51 7|7]7|10]10{10|/ 6|88 7]|8|10[10 53 |-/RM1
26(10306| 76101671019 96]19]|9(9]10] 9 |10| 8,217 | 60 |-/ PAC-8, Tribologie-8
271 9507 |4 5155|6971 8]4(8]7|18|101 9|6 49 |-/ TCD-5, VM
28| 9513 14| 5|7|5|7|(10/5(8|5|8|0|6]7]6/(10 48 |DTI1-6/ -
29| 9536 | 7| 5|6|7|7|(10/5|9(6|8]|7]|8]10] 8 (10| 7,433 | 60 |-/RM1, RM2
30 9664 | 5|15|15|16|718|5|8|5|[7|7[78[9]0 56 |DTI1, TM-7 /RM1, VM
31 9551 | 6| 5|7171919|6|10[5|7|6|7|7|9]|8] 7,033 60 |SIM, DTI1, GD / Practica dom
32( 9553 |0|0O|4|10|10|18|6| 7477|7779 34 |SIM /RM1, TCD, RM2, VM
-/ RM1, Mecanisme-5, TCD-5,
9565
33 415|6|6|6(10/7(10]7|8|7|7]|8|7|9 53 RM2, VM
3419572 | 4| 5|7|7|718|6]|18|8|7|7]6|6]|7]|8 53 [SIM, Termothl/ -
35( 9606 |4|5|5|71619|7|19(4|8|77|7([10]9 49 |-/ RM1
36| 9598 |4|6|7|7]|6|1007]19|8|8|7]6]|6]10]|10 53 |-/RM1
3719634 |0|5]6|7]|6|10/5]19[5|7|5]16|6]|8]|0 49 |SIM / MS, TCD, Ed fiz2, VM, Ed fiz3




